Seat Number

GEMI - | TYPE

Examination for the Post of A
CLERK-CUM-TYPIST '

[Kindly fill up your seat number carefully)

4000105

[Please read the following carefully before making an attempt to take the Test]

No. of Questions 100
Total Marks allotted 100
Marks for every correct Answer 1
No negative marks will be awarded | For Option “E”
Marks deducted for every wrong 0.25
Answer or Blank options
Time limit 120 minutes
Instructions for Candidates candidate’s total marks. No negative marks will be
i - = (13w L H ‘[ h
Keep only the Hall Ticket, pencil, eraser and Black/ awar.d =, ni t,t,],e. option : B sleciey by v
Blue ball pen with you. DO NOT k ith candidates. “E” is not option of answer, However,
R IO - eep with you 0.25 will be deducted if all the options are kept
books, rulers, slide rules, drawing instruments, Tk
calculators (including watch calculators), pagers, ' ) . .
6. Shade the appropriate oval against each question

cellular phones, or any other device.

Fill up all the details as indicated on top of the
QUESTION BOOKLET and OMR Sheet.

Fill up correctly your SEAT number both on the
QUESTION BOOKLET and OMR Sheet.

Read these directions carefully and answer the
questions by darkening the appropriate ovals.

All questions are Multiple Choice Questions
(MCQs). Each of these questions has four options
for answer, out of which only ONE option is
correet. A candidate has to select the correct option
and fill the corresponding letter in the OMR Sheet
against the question.
For Example :
1) Ahmedabad is the city of which State?

(A) Maharashtra  (B) Tamilnadu

(C) Gujarat (D) Andhra Pradesh

9J0] JOIG

In above example true answer is (C), so the circle
of (C) is encoded. Don’t write Gujarat in answer.

There shall be negative marking for each incorrect
answer, 0.25 marks will be deducted from the

CLERK-CUM-TYPIST-A

in the OMR sheet. Shade the oval completely and
do not shade more than one oval as in that case the
answer will be treated null and void and 0.25 marks
would be deducted.

7 Use blue/black ball point pen only for writing
particulars on this page and writing or marking
responses on OMR Sheet/shade the oval.

8. The candidates should ensure that the OMR sheet
is not folded or damaged. Do not make any stray
marks on the OMR sheet or mutilate the OMR
Sheet.

9, Do all rough work on the Question booklet only
and NOT on the OMR Sheet. No extra sheet is to
be used for the rough work.

10.  Ensure that you have signed your name on the
attendance sheet circulated by the invigilator.
Ensure that the invigilator has signed on the
Question Booklet and the OMR Sheet.

11.  On completion of the test, the candidate MUST
HAND OVER the OMR SHEET to the Invigilator
in the room/hall.

12.  Strictly follow the instructions of the invigilator.
Candidates refusing to comply with the
instructions will be expelled from the test.
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sl cid eqell el 21dl s21a 54T, aAismi 2B RANRD 1812 vsuad) [RAsey uis $3).

(A) M=4as Qe (B) dRiaus [Qgue

(C) oinaas Qs (D) Avaurqias Qv
[Q3aell 2oel-{l )2l A3 €ly Acl [Rsey 506 ?

(A) Rt x s (B) 2521y x Brasidl

(C) My x A=y (D) Slesa x {lra

UM AL 3y Rz 529 3RuAloLA e g win ?

(A) ¥isdl - ug (B) oL o Hasd 51 59
(C) grou U %q (D) Feilél ud wag
‘Pl Al ioe g iy ?

(A)Ued . B)ud

(©) il (D) $3ua

HHIAL AACLS A5 5[A Yol - 241 isuy] 2l ue A BytRaNel 50 s d ?
(A) Wi s Fuagve (B) ARaas Buladya
(C)uuaas BuQdne (D) 2l Builadna

L5 oHLAALAL SLS MG WY cll s UM Sl - s sHRiaLsAM FuiaR g ?
(A) 25 LU S8 HIE U ol Bl A s »uadl,

(B) s BHIUML 516 HIE U3l £L5ciR gLl Ao sl vuadl,

(C) 215 %UAUAL 5L Hig U dl Bl Ao Sl

(D) 5 FHLAHE S HIg U3 ol 815 gl 3o ud)l.

‘gL S He1IR, B1ReRRl o AL A Wiy il - alsyi sal SR HdlAdl © 7
(A) ualRlvel (B) 445
(C) Alog[a (D) 2ay

Wlda Yls €1l A, eRcl 2uidl €], 20 e1a | sél osuoa, 4Bl o4ad udl.
— 54l ey GeleRw & ?

(A)»eu | (B) Hlg |

(C) ¥elst-il (D) RreRell

e HUe el AR €Y Al 268 s & ?

(A) s=4ua B)a+af

(C) Brals (D) 2uas92l

‘33 uR sis2 ysell’ 3RuEIAL 2o g 2w ?

(A) [Ban Ay yd) (B) G2 ayl ol L
(C) Al Mt 5L (D) [84d % I 1 el
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(11) ‘8 aa-d udell oyBl w¥’ sdeia-l il g e ?

(A) AR B 1l el ug. (B) 315 1A 6 513 L 1S U,
(C) oA cug-il clet ddl | (D) YAOL-L B S Rig L 2.
(12) wpuRiell -l sdeus 2’ R st sdRaisai uiar g a?
(A) 213 AL 561 7 (B) viRuell sdadl L.
(C) 2R 59 il sdan ? (D) w13 5, 561y L.
(13) Al Bell €lu A RAsey L.
(A) yrladl (B)yuald
(C)yala (D) yadl
(14) Ui 247 {2l Aerg — 1L S e el sdad 5868 ?
(A) AL YRl A5 g1zl (B) M2 v2aL w2l
(C) 24U AL UHEL (D) W ellrtl Wi dla yoll A6

(15) [@ar2ou-l efea vildl Rsay s & 7

(A) s\Ba - AAUas (B) Busx - i@t
(C) Rict - yusl@st (D) Atz - =&

(16) <l Al WlEnirl e 2l :
9 ol 1 BuRar dei Hid Bl

(A) Helstll (B) vl
(C) A (D) ALeU
(17) “53 20teirtL e, alefaedl ausiR. st st e Gelera e ?
(A) QS (B) ¢Ralld
(C) Fasu (D) elel
(18) AMRAsN WA A 58S 7
(A) AUY =AY +UY (B) s = + S5

(C) wlst = ula + $l . (D)was=dl+ s

(19) “UsclAd S0 W MR 7 Alsul 53 U 48 B 7

(A) S8 (B) Udctrl
(C) W - (D)W

20) %A ] At wuuall 3 77 cwsaml s ue R’ 87
Ayaudl - (B) U
(C) vuusil D)%

(4/16) : CLERK-CUM-TYPIST-A



(21)

(22)

(23)

(24)

(25)

(26)

‘qeleiond 34 38l Ay, Mg A uRy . asund sy ue wdubis Qv s ?
(A)34 (B) AsLell®,
(OEALN D) 13
e s P’ Gualo udl §lu dg aisa s S ?
(A) A cl ollad x 6. (B) 16120 24 aldl $8dL dl.
(C) L 3ot g8 YAl (D) 9 A 2L 513 5230 ?
ALl 2ogl-l vildl A dlu ddl [Asey 5418 7
(A) 2»R[4¢ - Goua (B) w1 - [A-le
(C) Weu - 98 (D) $trixt - Al
“§ eraral-ri eaf- saar A A2l disyul IiBd Ace sAU gEd-L S USRS ?
(A) Qe 5€d (B) Scael sEd
(C) oius B sEd (D) CiclsEd
Uy’ Aot~ AMQAS g an?
(A) AR + 2% (B) AR + %
(C) AR: + 2% (D) AJA + %
A=A o gell qrladl [RAseu urie 5.
(A) Gl (B) dld
- (© e (D) glaugd

27)

(28)

(29)

20l AlsHE Il ue Aas Bufadye) slu dadl [Asey sqie ?
(A) ML WA Al sansid @S 2.

(B) 2lladid Aty aRa t{l.

(C) LsaR 2HIFL ol [Raeeiz{l vl sdl.

(D) HAAL LA BUARAHL sl vied udd Al

‘2 H1 A19di YR g A AN D7 - cAlsy s34 w51y Gelen 8 ?
(A) ADARIULRL ME SR (B) 2AN ME SR

(C) 4™s MR - (D) 2% [d AE SR
wilen woeldi Ylao el dalasel s ?

(1) sl () A

(111) ouus (1v) 2214

(A) §5d T2 TI (B) $5c I A 11T

(C) 55 T A 11 (D) 2UUE M
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(30) “Hsla’ woe w2 AL woe uaie 5.
(A) aleL (B) #llAid
(C) x1[Zu (D) LS

(31) R oLl 80 dpat-il WuRML 60 2p8L Anodl S1u cll A 2el 251 @ Ay ¢d ?

(A) 60 .. (B) 80
(C)75 (D) 48
(32) AA#BEUAAXB .ooveeinennen... B XA .
(A)= : (B) #
€)< ' (D)>
(33) 239-6- qdaln ... 9y,
5 1
(4) 1% (B) 25
1 1
(©) 3¢ (D) 15

(34) s o Nardail Wl oude olla, $14l A B2 ui (e354i) 20 endl . sude olle A €14l
al 12 vendl 8. €14l A B3z wdl 11 Wl 8. B2 v oude ol udL 10 valdl 8.
59aldl AQN ™A R D, ol g Hendl sean ?

(A)30 (B) 32
(C) 33 (D) 60

(35) AA+B=2CuAC+D=2Adl
(AYA+C=B+D (B)A+C=2D
(C)A+D=B+C (D)A+C=2B

(36) riswl Melid wueruu 1 A3 = 50000 {2 8. A -s2Hl 6 2d a2 8 AL »idR €l oll
6} 9182 a42s] AiRA[QS idR Akl ?

(A) 400 km (B) 40000 m
(C) 4000 km (D) 40 km

(37) 6 WU~ GuloL 53] s 2isl eiraL W2 160 PFe-l Ay AL B, % 215 214l el 2 4 méu-ﬂ
Guaiol $902) ol J2dl AU @l 7

(A) 260 Bilx2 (B) 240 [A[A2
(C) 180 (lnz2 (D) 220 M2

(38) slSue uglas dvain d-l m@Qed vayasl ............... a3y a@ull s,
(A) el (B) ellesusl

(C) A_USIR (D) SUUSR
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(39) s 23 donsS Al wlous sl w100l 8. A d-ll elludasl uRER 70 3R €lu, dl

311 dous kL.

(A) 30 {l2: (B) 20 Hl2:

(C) 22 {l2r (D) 25 {122
(40) Misl 145,163, 172,133, 105 9s ............. iU

(A) 134.6 (B) 143.6

(C)163.4 (D) 146.3

@1) 6l Reuruarlladl 5887
(A) % 2A5AL ARA 3L AUl 814 ol
(B) % Avaln 2 2w 3 ol o o410(l A1 dg sl
(C) L wisvil WSHALRAUA YR 0, 2, 4, 6 214l 8 Sl dll
(D) A vl Deal 6L visie 6 a3 (] asiy dl.

(42) 2438424 (A1 UL Sl A AN euall asiy <R,
(A)2 (B)3
()9 (D)8

(43) %%Qasml &dl. -

(A) 25 % : (B) 50%
(C) 100% | (D) 75%
(44) ASUAVHL X- M8 UR ..... et AA D,
(A)2ug (B) Heu[53d
(©) Auligil (D)xAzu R, -
(45) WOUHL HASLS B FB 150 6UASA ASLS 53l 6 SeLs AL . % 180 SUALL A, dl d2dl
AHY @l ?
(A) 4 sclls B) 4% AL
(€) 5 saus (D) 55 sels

(46) R a-b=(-8),d +b=40,ab= (- 12) €4, dl &’ — b’ «{l (Bud 2.

(A) (-416) (B) (—224)
(C)224 (D)416

@47 S ueLyelar Aoyl AsHAL S Ll " % SlY.
(A)0 (B)2
©)5 (D) A3y AR,
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(48)

(49)

(50

(D)

(52)

(33)

4

(35)

sl quRl = x 100
o (2uaR) ARL

(A) AMAAL dsLad (B) ARl 2pus12
(C) AL aL2US1R ' (D) 251
(AL a5l x Al Bud 3l udl ?
(A) 120°
60 (B) 60°
" (C) 180°
120 x D) 70°
2 AR GLOL A Bl QO 6L AASN AL 9. %l AR L] el My 60 H{leR dal
ol o1l dois 90 Hl2R g1y dl detly el usious .............. 2z Uy,
(A)40 (B) 60
(C) 90 (D) 150

The principal declared a holiday in the morning, _
Select an appropriate question to get the underlined word as an answer.
(A) What did the principal declare ?

(B) When did the principal declare a holiday ?

(C) What did the principal declared in the morning ?

(D) Who declared a holiday ?

‘Get habituated’ means.

(A) Get habits (B) Get upset

(C) Get acquainted _ (D) Get used to

You can’t have a ration card of this city as youarea.................. of'this city. Fill in the blank with
proper word.

(A) non-residence (B) residence

(C) non-resident (D) resident

Select the correct spelling.

(A) Florescent (B) Fluorescent

(C) Flaorescent (D) Fluarescent

Give one word Substitation for : A unit of an air force is
(A) Protractors (B) Squadron
(C) Barrack (D) Commander
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(36)

(37)

(58)

(39)

(60)

(61)

(62)

(63)

(64)

Ahmedabad / no other city of/ as polluted as / Gujarat is .

1 2 3 4
Select the correct order to make a meaningful sentence.
(A)2,4,3,1 (B)2,4,1,3
(€)2,1,4.3 (D)4.2,3,1

Select a word which is nearly opposite of preserve .
(A) prevent (B) upkeep
(C) destroy (D) import

Does she eata mango ? Select the correct passive sentence.
(A) Does a mango eaten by her ?

(B) Is a mango ate by her ?

(C) Did a mango eat by her ?

(D) Is a mango eaten by her ?

These tree was grown by them a few years age. How many mistakes are there in the sentence ?
(A)1 (B)2
(©)3 (D)4

Ketan said to Sunil, “I have something to show you.” Select the correct indirect speech.
(A) Ketan told Sunil he had something to show him.

(B) Ketan told Sunil that he has something to show him.

(C) Ketan said Sunil that he had sometning showed to him.

(D) Ketan told Sunil that he had something to show him.

He was looking .................. his lost keys. Put proper Preposition.
(A)at (B) for
(C) after (D) into

Select odd one from the set.

(A) Louder (B) Quiet

(C) Feeble (D) Calm

Select incorrect pair of thyming word.

(A) dance - glance (B) time - dine

(C) motion - notion (D) arrow - narrow

Dead bodies of animals ormen - are called .................. .
(A) Carrion (B) Scavenger
(C) Carcasses (D) Perch
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(65)

(66)

(67)

(68)

(69)

(70)

(71)

(72)

(73)

(74

Choose the most appropriate meaning for the underlined word. The enemy planes turn away and
disappear.

(A) goup (B) go back
(C) reappear (D) vanish
A group of wolves is called.

(A) a pack (B) a herd
(C) aswarm (D) afleet

Select the correct meaning of the expression given below :  am leaving to slay the foe.
(A) ’'m determined to win over all the obstacles.

(B) I'll Struggle and search my path.

(C)I'll fight against every small and big problems.

(D) I’'ll make my own place in this world.

| [ — in the same house since 2004.

Fill in the blank with proper verb form.

(A) has lived (B) has been living
(C)isliving (D) lived

Frenzy means.

(A) tend something lovingly (B) that has little value

(C) feeling sleepy. (D) extremely emotional wave

Select the correct préﬁx to make a word opposite of : responsible

(A)in (B)un

©)ir D)il

The hare ran Swiftly. Select the correct negative sentence without change in its meaning.
(A) The hare don’t run swiftly. (B) The hare didn’t run slowly.

(C) The hare do not run fast. (D) The hare didn’t run steadily.

Identify the correct emotion of the sentence. What a huge skeleton itis !
(A) Angry (B) Scared
(C) Disgusted (D) Surprised

Select the correct degree of comparison.
(A) Kumar is not short as Sohan (B) Iron is heavier than plastic
(C) Indra is not fatter as Manoj (D) Sohan is as cleaverer as Rohan

Select the correct reporting verb for the below sentence. “Don’t touch it. It’s hot.”
(A) remind . (B) request
(C) warn =N (D) advise
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(75) Flapped means.

(A) moved (B) frightened
(C) tired (D) fall down
(76) AgHiA-3+U A5 ylaR AR ISROUL AAA 5181 et ?
(A) 3. 2. A~ B)3L. 5. Ala-
(C) 3. 3. g3 (D) 3. @. Hlua
(77) <021 Ugl 591 29 G-20+1) 46y 2] ?
(A) sulral (B) AL
(C) e (D) slleist
(78) 4 ¢z gl (1A U4 5 Aaesen auvapi 2034 8 ?
(A) drafX (B) 2AvULdR
(C) RAUR (D) x134ells

(79) L. UR. WHIAA sl U ‘o &’ ol M2 2412812 Ml Witd, 24l gl ?

(A)2008 (B) 2009
(C)2010 (D) 2011
(80) ®iRcivlleu UL A% (U B ?
(A) 3R (B) ismzal
(C) salles , (D) ey
(81) s001dl-{l M3l 1A AR s J2al Aardl Su® ?
(A)7 ' (B) 12
(C) 15 (D) 10
(82) +{l euda 216t 56 et A1 Asouden S ? oper, oel 4oL, dlol
(A) 26l (B) didlolie
(C) 818l (D) 332
(83) 3™l YAl AL MR 5 e vyl edl ?
(A) 1960 (B) 1956
(C) 1963 (D) 1974
(84) [Aa~{l Alefl aioll udfdsuan 586 ?
(A) sl (B) [8x1ay
(C) (=3 (D) 3l
(85) SURdAHL (Ul AAA sloL Sl D ?
(A) A3MHLA (B) urula
(C) Ut . (D)Gurguld
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(86) UK AHAUR €14 dl, 56 B uesl sl AR w{1adl ?
(A) SHaR (B) AMAIR
(C) HanaR (D) AR4AR

@7) 1A WRASR w1 Al A dviedy AUAAD. DALY RIETE ST
(A) Guuis Al - a3
(B) 010 L. u2et - vl
(C) R, gl - dule
(D) ri2arale UL - Gest

(88) A1 A4 54 w8 gt R 3 Aavaun 21 & ?
(A) WIRoiER (B) %512
(C) M1a-21R (D) AR

(89) ‘Father of Indian Modern Art’q [613¢ PRET R

(A) 2 Laaxl (B) A5, gA
(C) riseud ol (D) VA 2. A

(90) AU Bt YR8 201831 s AeRaiAd A Adi§ 1ad sdl ?
(A) R A s ' (B) Bedll [Rau
(C) SealRl (D) &L Rgvi a9

(91) G Ul AL HA W A 541 S 7

(A) A 3t BAdLS (B) dleuu Al
(C) AR w-ie ALl (D) 2% AL

(92) SR ‘GST'{l 3ot s uS ?

(A)2018 (B)2019
(C) 2017 (D) 2016

93) 01 A4 59 st alcareidl [ARA clotdl-i Hds W2 auRug el ?
(A) A2 (B) 2131¥l2R
(C) e1daii{leR (D) AR3{leR

(94) G-20,20234i Als . AL 58 ecl ?
(A) 2ABiclL O1-A25 (B) 214l Yreid
(C) 4. A%l (D) exat+ slloian

95) D2-uisll 56 ‘Artificial intelligence’-l w8 ?
(A)Machine learning (B) Cyber forensics
(C) Network Design (D) Full Stack Developer
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96) 50 Rl 20 ars =i wddl sell stiogell 1841 s D). [Rieis a1l 33812 Yuadi wddl, el
suogl 2231 531 Gletell 2iBusig et A S w1 2iBst A 2w A V. 6 wieddlg et 6l cuzgiell

sy -6 el ?
(A)30 ‘ (B) 31
(C)29 (D) iUl 1l

97) e et Bigall waaidl uzziid 528, A 2a Bz Wby Barii 0 8, usl d Wil el
dRg aoll yiedl A% Belfle A 8. dl g il 56 Basii e ?

(A)yed (B) Gu2
(C) ulan (D) e[l

(98) (Al divaniAl- oga U4 53 o wauanl 2l ?
(A)3,21,5,35 (B) 4, 8, 10, 20
(€)2.7, 14,49 (D) 2,11, 4,21

(99) &9 AR A5 NN 261al 5AASLD. AR ZAHWAASD. YA CHAZ LA S, BAA ¢
Xlazd Qs . BA A [l 316l oumgad st 8. dl C (L sl ouog sl ?
(A)X ' B)A
(&Y M)Y

(100) GH1Rclrll M3 AHH el Sl ALSL Wi seLs 3L . WlBellrArll HHURL AHY OUR Scll i3kl
SELS UL 8 . lawtA] ALl ALSL Ui L 8 i ilBRel deal oyl el ?

(A) Ba-l 2B (B) Baurll 3L 6lR
(C) ABLL 3L 2 BIR (D) AR AL B
L 2 2 4
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